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sRiigs (20160202) 26

" 0000000
00 8.5.00 f0 2z=e¢0000000 C*-0000 30
A. f(z)0 z=¢000000000000000000000f/(a)=0
oooo
B. (ADDO) f(a)#00000f(z) 0 r=e¢ 0000000000
oooo
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f@+mfﬂ@$§mﬁ (hO0OD 00D0ODDO)

O0000Om>000000000000 A£A0000000O0000O0O0O
oooooooooeAOOOooooooO

fla+h)> f(a)

O0000O0f(x) 0 z2=e¢00000000m<0000000O0O0OO

II1.2 2000000000000

obobooobobobooooo 200b00b0b000ob00obobooooon
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0 U00000000000000000000000000000000
R200000000000 007 000000000000000000
000000 30000000000
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0000  Hessf(a,b):= <fm(a,b) fay(a, b))
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Fla+hb+k)— f(a,b) = %gp(h,k)Jng(h,k), -0

000000000 A:= fax(a,b), B:= fzy(a,b), C:= fyy(a,b) 0000
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ooooooooooooooooOooOoOOOOOOoobooooboon 3.20
oooooo

(3) OO0 f(zx)=|2/|0 x=0000000000000000000000
000000 3.400
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